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  egA
 etaR

 52 rednU
 9450.0

 43-03
 5770.0

 93-53
 5770.0

 44-04
 1581.0

 94-54
 1581.0

 45-05
 6454.0

 95-55
 6454.0

 46-06
 2259.0

 96-56
 2259.0

 47-07
 1991.4

 +57
 1991.4

 92-52
 9450.0  

 
________________   = 000,1$ ÷ ________________     _______________________x   ______________________$ =

 efiL  etaR  tsoC 

 8080.0$  ____________x
 

____________   = 000,1$ ÷ x_______________  _______________$ =
 efiL  

 tnuomA
 etaR fo rebmuN  

derevoC  
 nerdlihC

 tsoC 

)s(rebmeM ylimaF  
 :derevoC

 eeyolpmE
 ylnO

eeyolpmE  & 
 ylno esuops

eeyolpmE  & 
 ylno nerdlihc

eeyolpmE esuops ,  
 )ner(dlihc &

 
 :diaP  %001  rof %001  eeyolpme

%05  esuops rof 
 rof %001  eeyolpme

%51  dlihc hcae rof 
 rof %001  eeyolpme

%04  esuops rof 
%01  dlihc hcae rof 

 :noitpO egarevoC  :etaR
 :ylno flesyM  6610.0$

 :ylimaf ym dna flesyM  2720.0$

 
 _______________________$ =__________________x____________= 000,1$ ÷________________________

( eeyolpmE   egarevoC 
 )ylnO tnuomA

 etaR  tsoC 

 

 
 

 ruoy etaluclac oT ylkeew-ib  :)s(alumrof gniwollof eht esu esaelp ,tsoc 
 

 
 

 ot tcele I esahcrup  efil fo______________________$  .egarevoc
 I enilced  efil esahcrup ot  .egarevoc

 
 ecnarusnI efiL latnemelppuS )ner(dlihC

 ruoy etaluclac oT ylkeew-ib  :)s(alumrof gniwollof eht esu esaelp ,tsoc 
 

 
 

 ot tcele I esahcrup  __________________$  efil fo  .egarevoc
 I enilced  efil esahcrup ot  .egarevoc

 ecnarusnI tnemrebmemsiD & htaeD latnediccA yratnuloV ylimaF
 no desab era stnuoma egarevoc fI sgninrae  ruoy fi egnahc yam tsoc ruoy , sgninrae  egnahc  .

 

 
 

 
 

 ruoy etaluclac oT ylkeew-ib  :)s(alumrof gniwollof eht esu esaelp ,tsoc 
 

 
 

 ot tcele I esahcrup  .ylno flesym rof egarevoc D&DA fo ___________$ 
 ot tcele I esahcrup ym fo segatnecrep eht ta derevoc eb lliw ylimaf yM .flesym rof egarevoc D&DA fo ___________$  

  .evoba detsil noitcele
I  enilced   .egarevoc D&DA esahcrup ot

 6 fo 4 egaP
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